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Save directory =./B160@-Spp/
Total Kaon Number to be generated =

#### K Nucleus

2.00000 (M) events

branch 1.00000 Binding energy: 160.000 MeV
# Knucl decay branch was set to -------------------
reaction  branch SL conv.
He3K -> L pi- p p 0.000000 0.000000
He3K -> S@ n p 0.000000 1.110000E-02
He3K -> S- p p 1.00000 2.220000E-02
He3K -> S+ n n 0.000000 2.220000E-02
He3K -> L np 0.000000 0.000000
He3K -> L d 0.000000 0.000000
He3K -> pi®@ L p n 0.000000 0.000000
#Quasi-free branch was set to ---------—-----——--———-
reaction  branch SL conv. Y scat. pi scat. pi abs.i
1) Sigma+ pi- 31.82 : 0.600 0.002 0.002 0.002
2) Sigma- pi+ 10.00 : 0.300 0.002 0.002 0.002
3) Sigma@ pi® 16.36 : 0.450 0.002 0.002 0.002
4) Sigma- pi@ 9.09 : 0.600 0.002 0.002 0.002
5) Sigma@ pi- 9.09 : 0.450 0.002 0.002 0.002
6) Lambda pi@ 7.73 : 0.000 0.002 0.002 0.002
7) Lambda pi- 15.45 : 0.000 0.002 0.002 0.002
8) Sigma+ pi@ 0.45 : 0.000 0.000 0.000 0.000
# ratio of IN / 2N reaction for QF reaction
# primary
0.920 Sigma quasi_free process
0.920 Lambda quasi_free process
# secondary

# K Non-mesic absorption branch was set to

0.920
0.920
0.920
0.920

reaction

D

Lnd

Sigma-Lambda conversion

Sigma-residual scattering
Lambda-residual scattering
pion scattering (pi induced brackup)

br

2 Lpnn

2)
3)

SO n d
S-pd

4) S+ nnn

anch

0.59 :
0.00
0.14
0.22
0.05 :

SL conv.

0.000

0.300
0.300
0.000
# ratio of INC+Y) / 2N(+Y) reaction for KN non-mesic absorption

0.500 Sigma none-mesic

0.500 Lambda
# piN 2-nucleon
# ratio of 2N /
0.500 pi- He

H##HHHI ratio #HHEHE

knucl, QF, none-mesic, L_Hyp, S_Hyp
1.00000 0.000000 ©.000000 ©.000000 ©.000000 1.00000

# Hypernuclei

B_Sp@, G_Sp0, B_LO, G_LO 2.00000 12.0000 2.30000 2.50000

none-mesic
absorption
3N reaction for piN absorption
-> nnd / pnnn

Y scat.

0.005

0.005
0.005
0.000

. tot

###HH## global simulation condition ######
NC thickness (cm) 5.00000
NC position resolution (sigma in cm) 2.50000

-1

Escape
0.995

0.695
0.695
1.000

al

Escape
Q.
.694
.544
.394
.544
.994
.994
.000

oSS I SIS I S I SN

Width

394
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run-condition.dat

55
56
57
58
59
60
61
62
63
64
65
66

T@ counter time resolution (nsec) 0.150000
neutron counter time resolution (nsec) 0.150000
TC light-guide acceptance 0.450000

T@ light-guide acceptance 0.800000

Coulomb scattering ON(=1)/0FF(=0) 1

kaon decay ON(=1)/0FF(=0) ©

TO-time correction ON(=1)/Skip(=0) T

Apply nuclear formfactor ON(=1)/0FF(=0) 2
neutron constant background level @.350000
Nutron production durling pion travel 0.000000
VDC threshold 0.000000 (MeV)

VDC resolution 0.000000 (cm)
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run-branch.dat
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20 % finished

Renormalization factor

H3 pi- S+

d n pi- S+

p nhnpi- S+
nnnpi@ S+
nnn S+

total S+

H3 pi+ S-

d n pi+ S-

p nnpi+ S-
He3 pi0 S-

d p pi@ S-
ppnpid S-
dp S-
ppnsS-

total S-

He3 pi- L

dppi-L

ppnpi-L

He3 pi- SO

d p (ppn) pi- SO

d n (pnn) pid L (SO) :
d n (pnn) L (S0)
nnnpi+ L (SO

total L (S@)

extarnal S- conv.

0.698699
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